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Abstract

We can prove % %rR] have an one-to-one characteristic; it is mean
that you can not design a % %rB] which will make two starting point to
the same end. We also can prove you can design any % %] you want;
you can predict a result, and you can design a % %~ which suit the
result, no matter what the result it is.

We can design any % %r§] we want, but it possibly becomes very big
and complicated. We develop a method to make it become briefer.
According to the method, we make a function that can design the % % ]
you want in a very short time. You predict a result in computer, and the
function will design a % %" ] which suit the result, and it will be the
briefest.
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// math1.cpp : Defines the entry point for the console application.
//

#include "stdafx.h"
#include "iostream.h"

Canswer _to_change(int,int*,int*);
Cchange to answer(int,int*);
Cchanging(int&,int&);

main()

{

int n,choose,Icontinue=1;

while(Icontinue != 0)

cout<<"% biFm mE T "
cin >> n;

int *start=new int[n];
int *answer = new int [n];
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for(int i=0;i<n;i++)
{
start[i]=i+1;
answer|[1]=0;

}

cout<<"l. d #&F ZFME LS 2. d LR 2 FA"
cin >> choose;

if(choose==1)

{
Cchange to answer(n,start);
}
else if(choose==2)
{
Canswer to change(n,start,answer);
}

cout << "Continue? (0. End)";
cin >> Icontinue;

delete[] start;
delete[] answer;

}

Cchange to answer(int N,int* st)
{

intn=N;

int*start = st;

int size=0,Clong=0;

char change enter[400];

A s e M.
ch@%%ﬁﬁ-ﬂ
cin >> change enter;

while(change enter[Clong] !="0")

{
int a=0;
while(change enter[Clong] ==",' && a==0)
{
size++;
a=1;
h
Clong++;
}

int*change = new int[size+1];
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}

for(int i=0;1<=size;i++)

{
}

change[i] = 0;

Clong=1;
int h=0;

change[0] = int( change enter[0] ) - 48;

while(change enter[Clong-1] !="0")

{
while( change enter[Clong] !=",' && change enter[Clong] !="0")

{
change[h]= change[h]*10 + int( change enter[Clong] ) - 48;

Clong++;

}

h++;

Clong++;
PV A
cout << "\n";

for(i=0;1<=size;i++)

{ Cchanging(start[change[i]-1],start[change[i]]);
}

for(1=0;1<n;it++)

{ cout << start[i] <<",";

(};out <<"n";

delete[] change;

Canswer to change(int N, int *st, int*ans)

{

int n=N;

int *start=st , *answer=ans;
char answer_enter[400];

int Along=1,g=0;

cout << " » ¥ H: "
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cin >> answer_enter;
answer[0] = int( answer_enter[0] ) - 48;

while(answer_enter[Along-1] !="0")

{
while( answer_enter[Along] !=",' && answer_enter[Along] !="0")
{
answer|[g]= answer[g]*10 + int( answer enter[Along] ) - 48;
Along++;
}
gt
Along++;
}
int count=0;

cout<<"¥&3 Z FARIL

for(int i=0;i<n;i++)

{
int Looking;
for(int j=1;j<n;j++)
{
if(answer][i] == start[j])
{ Looking =j; } /o diip e gk
}
for(int k = Looking-1 ; k >=1; k--)
{
Cchanging(start[k],start[k+1]);
cout << k+1 <<",";
}
}
cout << "\n";
}
Cchanging(int &changel,int &change?2)
{
int turn;
turn = changel;
changel = change2;
change?2 = turn;
}
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